
Quest ce que le cadeau  F' - ? ( )Quel nombre se trouve dans chaque cadeau?
72 + 60 = 70 + 62 = 33 + 85 =82 + 21 = 67 + 77 = 56 + 39 =36 + 54 = 95 + 61 = 94 + 52 =18 + 16 = 77 + 60 = 54 + 61 =82 + 99 = 21 + 56 = 80 + 86 =49 + = 60 58 + = 102 64 + = 9513 + = 106 11 + = 107 17 + = 3595 + = 184 62 + = 154 73 + = 856 + = 22 25 + = 30 24 + = 11451 + = 73 11 + = 35 57 + = 118+ 96 = 185 + 24 = 121 + 64 = 163+ 46 = 79 + 97 = 156 + 47 = 59+ 65 = 88 + 42 = 139 + 80 = 138+ 57 = 144 + 6 = 9 + 71 = 101+ 78 = 110 + 7 = 39 + 13 = 59
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Quest ce que le cadeau  F  Solutions' - ? ( )Quel nombre se trouve dans chaque cadeau?
72 + 60 = 132 70 + 62 = 132 33 + 85 = 11882 + 21 = 103 67 + 77 = 144 56 + 39 = 9536 + 54 = 90 95 + 61 = 156 94 + 52 = 14618 + 16 = 34 77 + 60 = 137 54 + 61 = 11582 + 99 = 181 21 + 56 = 77 80 + 86 = 16649 + 11 = 60 58 + 44 = 102 64 + 31 = 9513 + 93 = 106 11 + 96 = 107 17 + 18 = 3595 + 89 = 184 62 + 92 = 154 73 + 12 = 856 + 16 = 22 25 + 5 = 30 24 + 90 = 11451 + 22 = 73 11 + 24 = 35 57 + 61 = 11889 + 96 = 185 97 + 24 = 121 99 + 64 = 16333 + 46 = 79 59 + 97 = 156 12 + 47 = 5923 + 65 = 88 97 + 42 = 139 58 + 80 = 13887 + 57 = 144 3 + 6 = 9 30 + 71 = 10132 + 78 = 110 32 + 7 = 39 46 + 13 = 59
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